Arithmetic Slip

. What is the missing number? 18 C) 36 45 54
. What is 1000 more than 150?

. 4528 - 216 =

.42 2 6=

. Two factors of 28 add up to 9. What are they?

.234x 5=

.23+ 100 =

11

L -
"9 9

= 1685 + 945

10.1.56 + 0.7 =
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Arithmetic Slip

. What is the missing number? 18 () 36 45

. What is 1000 more than 150?
. 4528 - 216 =
.42 + 6=

. Two factors of 28 add up to 9. What are they?

= 1685 + 945

10. 1.56 + 0.7 =
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Arithmetic Slip

. What is the missing number? 7 14 Q 28 35
. What is 1000 more than 2900?

. 3492 - 1768 =

.72:9=

. Two factors of 36 add up to 21. What are they?

.216x7 =

= 2458 + 1932
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Arithmetic Slip

. What is the missing number? 7 14 Q 28

. What is 1000 more than 2900?

.3492 - 1768 =

.72:9=

. Two factors of 36 add up to 21. What are they?

.216 x7 =

= 2458 + 1932

10.0.8 + 1.03 =
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Arithmetic Slip

. What is the missing number? 18 24 Q 36 42
. What is 1000 more than 32807?
. 1390 + 576 =
. 144 : 12 =
. Two factors of 12 add up to 18. What are they?
.485+ 5=
.5.6x10=
8.1+ % -

=7682 - 1439
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Arithmetic Slip

. What is the missing number? 18 24 () 36

. What is 1000 more than 32807?
. 1390 + 576 =
.144 : 12 =
. Two factors of 12 add up to 18. What are they?
.485: 5=
.5.6x10=
8.1+ % =

9. =7682 - 1439
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Arithmetic Slip

. What is the missing number? 22 33 Q 55 66
. What is 1000 more than 4910?

. 1486 + 693 =

.96 + 8=

. Two factors of 20 add up to 15. What are they?

= 3986 - 1578
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Arithmetic Slip

. What is the missing number? 22 33 Q 55

. What is 1000 more than 49107
. 1486 + 693 =
.96 + 8=

. Two factors of 20 add up to 15. What are they?

= 3986 - 1578

10.5.2+1.9=

@ www.grammarsaurus.co.uk




Arithmetic Slip

. What is the missing number? 24 C) 40 48 56
. What is 1000 more than 3968?

.2813 - 1408 =

72:12=

. Two factors of 30 add up to 9. What are they?

.312: 4=

= 3369 + 1087
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Arithmetic Slip

. What is the missing number? 24 Q 40 48

. What is 1000 more than 3968?

.2813 - 1408 =

72:12=

. Two factors of 30 add up to 9. What are they?

.312+ 4=

= 3369 + 1087

10. 6.14 + 1.06 =
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Arithmetic Slip

. What is the missing number? 18 () 24 27 30
. What is 1000 more than 450?
. 9152 - 4692 =
.56+ 8=
. Two factors of 27 add up to 36. What are they?
312+ 4=
7.1.6x100=

8.2+

i
4

9. =1840+ 1639
10.7.6 + 0.39 =
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Arithmetic Slip

. What is the missing number? 18 Q 24 27

. What is 1000 more than 450?
. 9152 - 4692 =
.56 :8=
. Two factors of 27 add up to 36. What are they?
.312: 4=
7.1.6 x 100 =

8.2+

i
4

9. =1840+ 1639
10.7.6 + 0.39 =
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Arithmetic Slip

. What is the missing number?

. What is 1000 less than 108567?

. 14069 - 8569 =

.36+ 3=

. Two factors of 28 add up to 9. What are they?
.768 + 8=

.63x10=

+

1
4

€
"2

= 4925 + 2783
10.3.5+1.08 =
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. What is the missing number?

. What is 1000 less than 108567?

. 14069 - 8569 =

.36+3=

. Two factors of 28 add up to 9. What are they?

.768 + 8=

= 4925 + 2783
10.3.5+1.08 =
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Arithmetic Slip

. What is the missing number? 21 28 35 Q 49

. What is 1000 less than 21349?
. 2459 + 1936 =
.24 + 8=

. Two factors of 16 add up to 5. What are they?

= 6352 - 4010
10.7 -2.15=
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. What is the missing number?

. What is 1000 less than 21349?
. 2459 + 1936 =

.24 : 8=

. Two factors of 16 add up to 5. What are they?

= 6352 - 4010
10.7 -2.15=
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Arithmetic Slip

. What is the missing number? 72 63 54 Q 36
. What is 1000 more than 9736?

.3178 + 2703 =

.63+9=

. Two factors of 25 add up to 26. What are they?

. 1218+ 6 =

+

A
4

1
"3

= 2405 - 968
10.8 - 3.69 =
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. What is the missing number?

. What is 1000 more than 9736?
.3178 + 2703 =

.63:9=

. Two factors of 25 add up to 26. What are they?

= 2405 - 968
10.8 - 3.69 =
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Arithmetic Slip Week 10

. What is the missing number? 64 56 48 Q 32

. What is 1000 less than 2598?
.2394 - 1069 =
.3-8=

. Two factors of 18 add up to 15. What are they?

= 1694 + 3298

10.5-3.02 =
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. What is the missing number? 64 56
. What is 1000 less than 2598?

.2394 - 1069 =

.3-8=

. Two factors of 18 add up to 15. What are they?

= 1694 + 3298

10.5-3.02 =
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